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One who is left with no money.

A) Bankrupt B) Wealthy C) Money spinter D) Starving

A Magazine published every two weeks called as

A) Fortnightly B) Weekly C) Monthly D) Annually
Synonym of Impotent is

A) Important B) Strong C) Powerless D) Dangerous
Opposite of Aggressive is

A) Oppressive B) Hostile C) Submissive D) Arrogant
Opposite of Often is

A) Always B) Frequently C) Seldom D) Continuously
He has worked here ...... a year. 4

A) During B) Since C) From D) For

There was a fence ...... the two fields.

A) Among B) From C) Between D) In

Change Gender - Peahen

A) Drone B) Peacock C) Cock D) Doe
Change Gender - Bride

A) Husband B) Sir C) Groom . D) Master
Plural of Half is

A) Halfs B) Halfe C) Halves D) Halfes
Plural of Mouse is

A) Mice B) Mices C) Mouses D) Micess

A stich in time ....... nine

A) is saving B) saved C) had saved D) saves
Choose correct form of Adjective - Lata is ........ than her sister.

A) wise : B) wiser C) wisest D) more, wiser
Choose the sentence which shows suggestion.

A) She must not go out after 8 p.m. B) You should work hard to get success.
C) She will go to pune D) I may come tomorrow

Choose form the following the verb form of "liberty"

A) Libertine B) Liberation C) Liberality D) Liberate
Change into simple sentence - "The fact that he is silent proves his guilt"

A) The silence proves guilt. B) The silence has proved his guilt.

C) His guilt has been proved by his silence. D) His being silent proves his guilt.

Choose the correct alternative to complete the sentence - Unless he completes the work,..........

A) he has been punished B) he will be punished

C) he was punished D) he would have been punished
... Ahamednager is a big city. Fill in the blank with the correct article
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A)A B) The C)An D) No article
Choose the word which is nearest in meaning to the word "absurd"

A) Wrong B) Accurate C) Adequate D) Inconsistent
Pick out the most effective word from the given alternatives to fill in the blank to make the
sentence meaningfully complete : My Friends ........ the Prime Minister yesterday.

A) see B) have been C) saw D) had seen

Pick out the most effective word from the given alternatives to fill in the blank to make the
sentence meaningfully complete : Ashok fell of the ladder when he ......... the roof,

A) is mending B) was mending C) mended D) were mending

Choose the word which is nearly the SAME in meaning as the word in question:
Complacent

A) stupor B) Exhaustion C) self-satisfied D) unruly
Choose the word which is nearly the SAME in meaning as the word in question. - Discard
A) reject B) fact C) perfect D) hostile

In the question below only one among the four alternatives is correctly spelt. Find out the
word with correct spelling.

A) Ninty B) Nineti C) Nynety D) Ninety

A) Tvelfth B) Twehn C) Twelfth D) Twealfth
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